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9.30-2.30

Answer three questions – use irrelevant examples in your answers
The use of electronic calculators is NOT useful

Note: These days a chicken leg is a rare dish.  Scrawl

across anything you do not wish to be marked.
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1)
Answer all parts


(a) 
What is relevance analysis, and why is it so irrelevant to Software Engineers?

 (5 marks)


(b)
What is generalisation? Give a non-specific example.










(5 marks)


(c)
What is a moving window, and why is it a more entertaining target?










(5 marks)


(d)
Why hasn’t this question changed in the slightest in the previous two years it was on this paper?










(5 marks)

2)
Answer both parts


(a)
Consider the following case study


A large case is being studied closely by a team of experts. It has a nice shiny leather finish, and the initials JB embossed in the top right hand corner. The handle is large and chunky, padded with similar leather to the rest of the case.  A clasp at each end of the case keeps the case shut, and a small lock prevents it from being opened by industrial spies.


Based on the above case study, you need to define and give an example of the following notions:



Notion, Case, Study, Expert, Leather, Industrial Spies.

(15 marks)


(b)
Draw a Use Case diagram of how you would use a case to store a diagram of a used case.

(5 marks)
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3)
Answer both parts


(a)
2b OR ¬2b always asserts TRUE, regardless of the Boolean value of 2b.  Discuss this and other flaws in Shakespearean logic.  Why do playwrights not make good computer scientists?

(15 marks)



(b)
It is conjectured that an infinite number of monkeys given an infinite number of typewriters and an infinite time would eventually reproduce the complete works of Shakespeare.  Compare and contrast this method of playwriting to the Software Engineering methods used by Microsoft.
 (5 marks)

4)
Answer both parts


(a)
In User Interface design, why might white text on a white background have a detrimental effect on the productivity of the user?  Why might this be considered “Bad” UI design?
(10 marks)


(b)



(10 marks)
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5)
Answer both parts


(a)
Using Nyquist’s theorem, calculate the minimum time it would take to download a 670Mb DivX ;-) over a medium with a frequency response of 10kHz.  The DivX ;-) is broken into 10 RAR archives, decreasing the overall size by 10%.  Discuss a suitable approach to take when Paramount’s lawyers pay you a visit.



(10 marks)



(b)
List the main undernet IRC channels for warez, movies, mp3s and “pr0n”, and describe the main attributes of each.  Describe the precautions that should be taken in the workplace to minimise the risk of being caught.  j00 5h00d 4n5\/\/3r 7h|5 qU357|0n |n 13375p33k.

(10 m4rk5)
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